PREVIEW QUESTION BANK(Dual)

Module Name : NCHM JEE - 2023
Exam Date : 14-May-2023 Batch : 09:00-12:00

Sr.
No.

1

2

Client Question

30001

30002

1D

Objective Question

Objective Question

Question Body and Alternatives

If the ratio of two numbers 1s 11 : 12 and their LCM is 528, Then their H.C.F 1s

(1) 4 2) 2
(3) 8 (4) 16

Al 7 FENH F T 11 : 12 2 3R T TG FOEdE (LCM) 528 8, 91 399 Hay Juads

(HCF) F41 &7

(1) 4 @ 2
(3) 8 4) 16

Al
A2
A3

A4

The H.C.F and L.C.M. of two numbers are 12 and 336 respectively. If one of the

numbers is 48, the other is

(1) a6 (2) 84
(3) 168 (4) 96

3 HEns # H.C.F. 3 L.O.M. A 12 3 336 , 33 Semnsii § 8 uF 48 2, @ g5 70 &7
(1 56 (2) 84
(3) 168 (4 96
Al

A2

A3

Negative
Marks Marks
4.0 1.00
4.0 1.00

.
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Objective Question

3

Objective Question

4

Objective Question

5

30003

30004

30005

A4

The H.C.F of 3556 and 3444 i=

(1) 14 (2) 84
(3) 36 (4) 28
3556 3 3444 #T H.C.F.

(1) 14 (2 84
(3) 56 (4) 28

Al
A2
A3
Ad
Which of the following is a pair of co-primes?

(1) (16, 62) (2) (23, 92)

(3) (18, 25) (4) (21.35)
et 4 @ Fe 7g- e sEnH H AL 27

1 (18, 62) (2 (23 92)
(3 (18, 25) (4 (21,35)
51
52
{\3
54

A number less than 100. when divided by 4. 5 and 6 leaves remainder 2 in each case.

The number is

(n 62 (2) 54
(3) 38 (4) 44

4.0 1.00
4.0 1.00
4.0 1.00
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WoBBA gE, M4, 53R cafmfmF i T s i cimsaa e T gem |27
v 62 2 54
@ 38 4 44
Al
A2
A3

A4

Objective Question

6 30006 . - _ 40 100
The average of the first 100 positive integers 1s

(1) 50.5 2y b1
(3) 51.5 (4) 49.5
TEe 100 TS [N 1 S §

(1) 50.5 (2 51

(3 51.5 (4) 495

Al

A2

A3

A4

Objective Question

7 30007 4.0 1.00
The average of 7 consecutive numbers 1s 20. The largest of these numbers is

(1) 24 (2) 23
(3) 20 4) 19

7 FEHTTE WEAS H OSEE 20 B 0§ 999 90 90 @ 80

(1) 24 (2) 23
3 20 4 19
M

1
A2y

5 gcqllegedunla
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Objective Question
8 30008

Objective Question
9 30009

Ads
3
Aty
4
Simplify
T .7 . 50 8. .5
— = — W — e —H—
8 8 6 6 8 3
T 7 h B
B L
8 8 6 6
(1) 41 (2) 40
(3) 38 (4y 35
T W
7 7 6 57 &
—X—+—=X—+—X—
BB -8B B3
7 7 5.5
88 6 6
1n 41 (2) 40
(3) 38 4 35
My
1
A2,
2
Ay
3
Aty
4

| —— .
If |(218+4/37++144 = K. then value of K1s

(1) 35 (2) 25
(3) 20 4) 15

afg 218 +4/3T+4/144 = K 2, @ K %1 oF 71 27

(1 85 @2 25
(3 20 4) 15

Al
A2

A3

4.0 1.00

4.0 1.00
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A4

Objective Question
10 30010
If Vx + 14 = 4/2601. then x is equal to

(1) 1359
(3) 1369

I Jx + 14 = 2601, @1 x TorEd T 27

(1) 1359 (2)
(3) 1369 (€]

Al
A2
fx3
A4

Objective Question
11 30011

; : (O
The fraction equivalent to =% 1s
i

(1) 350 (2)
: 1 ;
® 750 @

Objective Question
12 30012

(2)
(4

1379
1309

(4)

1379
1309

4.0 1.00
4.0 1.00
4.0 1.00
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In how many vears will a sum of monev double itself at 6%% simple Interest per

annum?
(1) 2 years (2) 4 years
(3 8 vears (4) 16 years

FIE e T 3 4 619 HaRw = 1 o @ Fd A S A Sy
(1) 2= (2) 479
(3) 8= (4) 16=d
Al
A2
A3

A4

Objective Question
13 30013 " 4.0 1.00
The simple interest on a sum of money 1s = of the principal. If rate percent and time

are numerically equal then find the rate percent

@ 52% @ 92%
3 8% @ 62%

mmw,mmwwgﬁiﬁammmmmﬂwﬁﬁa
e A Hifa

1  52% 2 93%

™

(3) 8

s

% @ 62%

Al
A2
A3
fx4

Objective Question
14 30014 4.0 1.00
The ages of two persons differ by 16 years. If 6 years ago. the elder one was three
times as old as the younger one, then present age of elder one is
(1) 14 years (2) 30 years
(3) 20 years (4) 15 years

gcollegedunia



Objective Question

15

Objective Question

16

30015

30016

2 =l 1 A 16 T 1 AR B 3 6 T TEA 42 F A7 TR H A F 77 0 A, T A H
AR g TR 7

(1) 147§ (2) 30=d
(3 209 (4) 1599

Al

A2

A3

Ad

6 vears ago. the ratio of the ages of Ram and Ravi was 6 : 5. Four vears hence, the
ratio of their ages will be 11:10. What 1s Ravi's age at present?

(1) 18 vears (2) 20 vears

(3) 15 vears (4) 16 years

6 T4 9Ee, T 3R A H A T AT 6 5 W TR A =15, TRl FF H AT 11 10 7 I
&1 FdaT Fg R

(1) 18=9 (2) 2074
(3 1594 (4) 16=%

Al

A2

A3

A4

The ages of A and B are in the ratio 6 : 5 and the sum of their ages 1s 44 years. What
will be the ratio of their ages after 8 vears?

(1) 8:7 & T8

3 8:9 4 9:8

A 3 B &1 5 1 50 6 1 5 7 S IR 9 O IM 44 T4 8| 8 9 A8 I WG 1 ST
ET

1 8:7 (2) 7:8
(3) 8:9 (4) 9:8
AL

1

4.0 1.00

4.0 1.00
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Objective Question
17 30017

Objective Question
18 30018

A2

A3

A4

A 160 m long train crosses a 160 m long platform in 16 seconds. then the speed of the
train is

(1) 55 km/hr (2) 60 km/hr
(3) 72 km/hr (4) 75 km/hr

T 160 Hiet @ WmE v 160 Hi I wewd #1016 H6E § 9N w1 g, a1 =me i A
T E?

(1) 55 FefiEa (2) 60 ffifee
(3) 72 i (4) 75 i
Al
A2

A3

A4

If a boat goes 7 km upstream in 42 minutes and the speed of the stream iz 3 kmph.
then. the speed of the boat in still water 1s

(1) 12 km/hr (2) 15 km/hr
(3) 14 kmv/'hr {4) 13 knv/'hr

afg vk A/ 42 fre B g % wfage 7 i # i gw < nfa 3 el vl g B, Sooie ww
1= i Tl &Ry

(1) 12 i (2) 15 Fsfiraa
(3) 14 Fadif== (4) 13 i

Al
A2
A3

A4

4.0 1.00

4.0 1.00
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Objective Question
19 30019

Objective Question
20 30020

Objective Question
21 30021

The difference between the value of a number increased by 25% and the value of the
original number decreased by 30% is 22. What is the original number?

(L 40 (2) 35
(3] 45 (4) 50

afe forelt w@m & w9 § 25% =i 3f3 oK 9@ @0 % 9 ¥ 30% %1 gm e A a w6 o &
S 22 ST 8| Y T R 7

(1) 40 (2 35
3 45 (4) 50
Al
1
A2,
2
i
3

4

In an examination, 35% of total students failed only in Hindi, 45% of students failed
only in English and 20% failed in both, then the percentage of students who passed
in both the subjects is

(1)  60% (2) 40%
(3) 30% (1) 35%

UF T °, T oE § § 35% *waa el °, 45% Faa 3060 § o 20% T o o 2 |
Il gW, g1 Tl o 3ol s 1 A =, e e

(1) 60% (2) 40%
(3) 30% (1) 35%

{\1
{%2
{%3
{%4

The selling price of 30 items iz equal to the purchase price of 25 items. then the profit
or loss percent is

2 2
1 162 (2) 183

(3} 14% (4) 15%

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
22 30022

Objective Question
23 30023

30 g # fasa qea 25 FH1 F F9 go9 & S0 2, df @ @ g e w e
(1)
(3)

—t
o

—
o

e e

s

oo

,_.
=)
szl

(2)
)

Al

A2

A3

Ad

The difference between the cost price and sale price of an article iz t. 240. If the
profit is 20%. the selling price is

(1) 2. 1240 @)
(3) %1400 (4)

7. 1340
T. 1440

T T % 9 T S {Ra qea % o9 s . 240 T #) 3 9w 20% 7, 9 foa e

1 %1240
(3 z.1400

(2) %1340
(1) 1440

A
1
A2,
2
Adg
3
Aty

4

How much water must be added to 60 litres of milk, whose cost is Rs.20 per l.lj litres

=0 as to have a mixture worth Rs. 1(}% a litre?

(1) 15 litres (2) 20 litres
(3) 25 litres (4) 10 litres

60 =it g9 |, Fomem gea 20 T wid 15 = & 4 fean ar faemn = fe foeo 1 9w 105 #9
fd wfex & =

(1) 15 &t (2) 20w

(3) 25 e (4) 10
M
1
)

4.0

4.0

1.00

1.00

gcollegedunia




A3

A4

Objective Question

24 30024 4.0 1.00
A can do a piece of work in 10 days and B in 20 days. They work together but 2 days
before the completion of the work. A leaves. In how many days was the work

completed?
(L) 2 days (2) 6 days
(3) 8 days (4) 10 days

A freft %@ =1 10 T 8 o B 20 f § = 5% 21 3 v A9y F0 9§ O W [ EF |
2 A veel A wW 12 g 21w e ol # g many

(1) 2f: (2) 6fm
(3 8f# (4) 10f3

Al
{\2
A3
A4

Objective Question
25 30025 4.0 1.00

Kavva 1s 40 years old and Neetu 1s 60 yvears old. How many vears ago was the ratio of
their ages 3 : 57

(1) 37 vears (2) 20 years

(3) 10 vears (4) 15 vears

e 40 79 1 & 3R | 60 79 & &1 e 9 vEe TR A # g 3 5 4
(1) 37=d (2) 2094

(3) 10=d (4) 1574

Al
A2
A3
A4
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Objective Question

26 30026 4.0 1.00
A person reaches his destination 40 minutes late if his speed is 3 km/hr and reaches
30 minutes before time if his speed 1s 4 km/hr. then the distance of his destination
from his starting point is

(1) 20 km (2) 14 km
(3) 24 km (4y 12 km

UH = AT e W40 fie 20 @ wiEm # afe s =@ 3 fefide # s afs s
=1 4 Tl B 9 9 @ | 30 fime e v @ @ R fag A v e gl wn R

(1) 20 fe (2) 14 fft
3 24 fedt (1) 12 fi

Al
A2
A3
A4

Objective Question

27 30027 4.0 1.00
A number when divided by 195 leaves a remainder 47. If the same number iz divided
by 15. the remainder will he

1 4 &) 3
@) 2 4 1

uE TE & 195 3 fawfam 9 W aesa 47 s 21 9 39 d@em w1 15 | fawfam fen T, A
SRS 1 B ?

1 4 (2) 3
3 2 4 1

Al
fxz
A3
A4

Objective Question

28 30028 . : . . . 40 100
Two pipes. A and B can fill a tank in 20 and 30 minutes respectively. If both the

pipes are used together, how long will it take to fill the tank?

(1) 10 minutes (2) 12 minutes

(3 14 minutes (4) 16 minutes

gcollegedunia




g1 UrET A 3 B u ¥ 5 wwm: 20 300 30 fige 4 wowwa #) afz S99 wsy 1 g fen @ g,

dl Z i WA | ToRa Tw ey
() 10fiFe (2) 12fime
@ l4fime (1) 16fme
AL
1
A2,
2
A3
3
Ay
4
Objective Question
29 30029 4.0 1.00
The total number of digits used in numbering the pages of a book having 366 pages.
18
(1y 980 (2) 990
(3) 950 (4) 1000

366 B AT UF JE & TH I FIE FA T WE I G b 5 1R

(1) 980 (2) 990
(3) 950 (4) 1000
Al
1
A2,
2
Ay
3
Ay
4
Objective Question
30 30030 4.0 1.00
) o .
r Al o
The valueof | 35.7 — |3+ —— | —| 2+ is
1 1
3+— | | 2+—
3/ 2/
(L 30 (2) 34.8
(3 36.6 (4) 41.4
AR 5 1 1
35.7 - |3+——|-| 2+ =1 A FR?
A 24—
3 2
(1) 30 (2) 34.8
(3) 36.6 (4) 414

gcollegedunia




Objective Question

31

Objective Question

32

30031

30032

Al
A2
A3

A4

Direction: Three words are given in the question given below, which have something in
common among themselves. Choose one out of the given alternatives which mentions the
quality common to the three given words:

Spain : Canada : India

(1) Russia (2) Paris
(3) London (4) Chicago

Tgm: = feu mu wwm O 9 v fon o E, fomd o o Fo waee B foeedi F & m owm o A
feu o 9 w=g) i IwEie EW = IgE = #

T : A : AT
1y =8 (2) HEm
@) @ (4 faremi

Al
A2
A3

Ad

“Tennis’ is related to ‘Court’ in the same way as ‘Boxing’ is related to:

(1)  Pool (2) Ring
3 Arena (4) Course
form T X, FE @ Haf 3 o At & w2
O @ fr
@ s (4 =
Al
1
A2y
2
A3

4.0 1.00

4.0 1.00

gcollegedunia




A4

Objective Question

33 30033 4.0 1.00
Below given question consists of two words each that have a relationship to each other
followed by four lettered pair of words. Select the lettered pair that has the same relationship
as original pair of words.

Signal : Traffic
(1 Dam : River (2) Lens: Light
(3) Door : House (4) Operation : Doctor

e fem mn v T W= @ fireet w1 2 foeem aaw § gy # 3 35 9e 9n faeer few mu E =
We AT FIE T Rt (A HAY O Y| & A8 % 99 8

A - gihe
(1 = (2) o : T
@)  oEE W (4) HAYEA : gF

Aly

1

A2,
2
A3 3
3
Ay

4

Objective Question
34 30034 4.0 1.00

What will come in place of question mark?
Clock : Time : : Thermometer : ?

(1) Heat (2) Energy
(3) Radiation {4} Temperature

oA 9% & T 9 =] 3

e - T - - AHTHI - ?

(1) it 2 =z
(3) fafmm (4) T

Al
A2
A3

A4

Objective Question g collegedunia
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35

Objective Question

36

Objective Question

37

30035

30036

30037

Directions : Complete the series by replacing question mark?
ABD, DGK, HMS, MTB, ”

() RAM (2) SBL
(3) RBL (4 TBL

e - g 9w % T #1  giEe B
ABD. DGK. HMS, MTB, 7

() RAM (2) SBL
(3)  RBL (4) TBL

Al
A2
A3

A4

‘College’ is related to ‘Student’ in the same way as Hospital is related to:

() Musician (2) Treatment
(3)  Nurse (4 Patient
‘marfaETeE w5 T € =6 99y &, 5 wwme w5 qE7
() s @ =
@ = ) T
Al

1
A2,

2
i

3
o

4

In the given question, a group of three inter related words is given. Choose a word from the
given alternatives that is similar to the given words, hence belong to the group.

Grand father : Father : Brother

(1) Son-in-law (2) Father-in-law
(3) Son (4) Servant

4.0 1.00
4.0 1.00
4.0 1.00

gcollegedunia




Objective Question
38 30038

Objective Question
39 30039

famymd A s T E R e i i, mrm e s R A
v=El % HUH 8 gEler W # HelE 2

ey - e - v
1 e @ W
@ (4 T
M
1
A2,
2
Ay
3
Ay
4
Choose the odd pair of words:
(1) Mason - Wall (2) Cobbler : Shoe
(3)  Farmer : Crop (4) Chef: Cook
T wreg] =1 == i)
(1) T gEn (2) o= S
(3) TEEE WA () =TEE = TR
M
1
A2y
2
Ay
3
Ay
4

In the following question, four words have been given, out of which three are like in some
manner and fourth one is different. Choose the odd one out.

(1) Triangle (2) Rectangle
(3)  Circle )

Square

frefafan wa 8 9% weg fou 7o 2, 9 5 9 foret wsm & |ae & 3 = e 21 T weg =51 =4

(1) = (2) A
@ T (4) =
Aly
1

4.0

4.0

1.00

1.00

gcollegedunia




A2

A3

A4

Objective Question

40 30040 4.0 1.00
In a certain code PUPIL s written as RWREN. How ROAST is written in that code?

(1) TQCUV (@) TQCUW
(3  TQCVW (4) TQCUZ
ferell 2 § ‘PUPIL W=z &1 ‘RWRKN' fomn wman 21 361 %52 § ROAST wieg =i &4 feran wmom ¢

(1) TQCUV 2) TQCUW
(3) TQCVW (4) TQCUZ

Al

A2

A3

A4

Objective Question

41 30041 4.0 1.00
The number of triangles in the given figure is:

n 8 (2) 10
@ 12 (4 14
% M amfa # TngEl o wem e 2

(n 8 @ 10
(3) 12 4 14

Al

gcollegedunia




A2
A3
A4

Objective Question

42 30042 4.0 1.00
Which of the following shows the relationship among Rose, Flower and Lotus?

(D 2 . O

= & & =6 T fawed ToE, B 3 TS F A= F Ged B A 2l

D (2 @ O
s (U ()3

Al

A2
A3
Ad

Objective Question
43 30043 4.0 1.00

gcollegedunia




Objective Question
44 30044

See the figure given below, and answer the question:

What 1s the sum of the numbers which belong to one figure only?

(1 5 (2 16
(3) 21 (4) 24

T & T AEA I AEES od 3 T & I G

3 e 1 9 S he O € s § i

(1 5 2 16
(3) 21 (4) 24

Al
A2
A3

Ad

Select a figure from amongst the four alternatives, which when placed in the blank space of

given figure would complete the pattern:

XD

L)
ey @ |°

L
(3) AN 4 .

4.0 1.00

gcollegedunia




Objective Question
45 30045

Objective Question
46 30046

feu mu fomredl 8 & 39 ol w1 9EE N, o E ¥ @ W W T #@ wm)

ot
wjloc

)| 2

1 030 @ || e

-
(3 A (4 = IF

f&l
A2
A3
A4

If ‘room’ is called bed’, bed is called ‘window'. ‘window is called flower’ and flower is called
‘cooler’, on what would a man sleep?

(1) Window (2) Bed
(3) Flower (4) Cooler

R FwAC w e, fewe & fagdr, fagdhr #1 5 SR B F1 FeR Fad # al sedl e W
Hram?

(1) fa=hi @) faem
@3 ) T

Al
A2
A3

A4

4.0 1.00

4.0 1.00

gcollegedunia




Pointing towards a boy, Veena said, “He is the son of only son of my grandfather”. How is that

boy related to Veena?
(1) Uncle (2) DBrother
(3) Cousin (4) Husband

T 5% hI AR TN FA B, A1 A FE, T8 T IR F Fheild 42 H 92 217 T8 =H A1 A form

e HEf &7
(1 =T @ g
(3) =9 WE (4 wH
Al
1
A2,
2
I
3
Ay
4
Objective Question
47 30047 40  1.00
You go North. turn right, then right again and then go to the left. In which direction are you
now?
(1) North (2) South
(3) East (4) West
A I H AT A, & g, T g qgt i R A sa anf e fem fam A Ee
() W (2 =fem
3 T (4 wfF=m
M
1
A2y
2
o
3
Ay
4
Objective Question
48 30048 40  1.00
Directions: Choose the word which is not like the other words in the group.
(1) Apple (2) Lotus
(3)  Rose (4) Lily

.
gcollegeduma
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1w « 98 weg 94 9 wE % I= v § faw A
(1 = (2)  wEe
@ e ) e

Al
A2
A3
A4

Objective Question

49 30049 4.0 1.00
In the following question, choose that set of numbers from the alternatives that is similar to

the given set.

Given set : (1, 8, 27)

(1) (60, 79, 86) (2) (32, 39, 59)

(3) (5, 12, 32) (4) (64, 125, 216)

FrafafEa v F, fasedl | fou w21 4 § 520l % 39 2 #1491 & ™ &% F 79 3
fem mn #2 - (1, 8, 27)

(1) (60, 79, 86) (2) (32, 39, 59)

(3) (5, 12, 32) (4) (64, 125, 216)
Al
A2
A3
A4

Objective Question
50 30050 4.0 1.00
Arrange the words in the sequence in which they occur in the dictionary and then choose the

correct sequence.
(a) Orange (b) Strike (c) Effect (d) Wife

(1) ce.b.oad (2) b.cad
(3 cahbd (4) a b.ecd

gcollegedunia




TeE] 1 30 A H HEEAT T80 F Teeh H 3T & 3T 94 fahodl § 8 T 0 H G0
(a) Orange (b) Strike (c) Effect (d) Wife

(1) ebad 2 bead
(2 cabd (49 abed

f“
A2
A3
A4

Objective Question
51 30051 4.0 1.00
Find out the alternative which will replace the question mark -

White : Peace : - Red : ?

(1) Violence (2) Roses
(3 Blackboard (4) Cleanliness

9% faspeq 39 Sifau =7 geAar==F =5 = 2E 9 3|

THE : I ¢ I 7

() fam 2 TEE
(3) =iFar (1) ==
Ay
1
A2,
2
Ay
3
Ay
4
Objective Question
52 30052 4.0 1.00
Find the missing term of the series Al BJ, CK, ?
(1) DL (2) DM
(3) GH (499 LM

1 F1 S TE 74 B

AL BJ.CK. ?
() DL (2 DM

3 GH @ LM
gcollegeduma




53

54

Objective Question

30053

Objective Question

30054

Al

A2

A3

A4

Choose the missing term out of the given alternatives.

C4X F9UII6R. ?

(1) K25P (2 L25P

(3 L250 4 L27P

feu v fa=redt 9 31 98 FT AT

C4X F9U,I16R,?

(1) K25P (2 L25P

@ L250 4 L27P
n
1
A2
2
A
3
Ay

4

“Thick’ is related to "Thin in the same way as Tdle’ is related to:

(1)  Business (2) Industrious
(3)  Aectivity (4) Virtuous
HIE 99 TA § 36 vHE & 99 TR @1 w6y 2l
(1) = () HE
(3)  Tiafatg (4) =i
M
1
A2,
2
A3
3

4.0 1.00

4.0 1.00

:
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A4

Objective Question

55 30055 4.0 1.00
Below is a question consisting of a statement, followed by 4 arguments numbered I IT, III, IV.
Decide which of the following arguments is/are ‘strong arguments and which are ‘weak’
arguments and accordingly choose answer from the alternatives given below.

Statement: Should there be a complete ban on manufacture and use of fire crackers?

Arguments:

I: No, this will render thousands of workers jobless.

II - Yes, the firecracker manufacturers use child labour to a great extent.

IIT:  Yes, this will be a concrete step to reduce noise and air pollution.

IV : No, the use of firecrackers makes certain special occasions more lively and joyful.
(1) Only I and IT are strong (2)  OnlyI and III are strong

(3) Only III and IV are strong (4)  Only I II and III are strong

TR i FAe s i LILIL Ve m & s =i s feafafmm g a s @
T WA T & I HA W FHAL T & AN AGIER A 5 e 6 H I

T . T TG F W 3R I W wfeaEs e S ey

T

1: 780, 598 TR St e g )

II: =, 92/ =941 9/ Shl 8¢ dF dle] 70 1 3TN Fd 81

IM1: &, =@ 3 T vgan #1 #6 %4 § f6u 98 vF 39 %0 2l

IV: 7, wrE #1 IEm F9 fam s | afys S o s = E Al

(1)  ad 7% [ 51 [1# v=5a 2 (2) Fae 7 1 3R 111§ v=e 2
(3)  FFd 7 101 31 IV E 76 £ (4) a@ 7 1, 11 31 111§ 9ea £

Al
A2
A3
A4

Objective Question

56 30056 4.0 1.00
Go through the following information carefully and answer the given gquestions.

(i)  There is a group of five persons — A, B, C, D and E.

(i) One of them is a horticulturist, one is a physicist, one 18 a journalist, one is an
industrialist and one 12 an advocate.

(i1i) Three of them — A, C and advocate prefer tea to coffee and two of them — B and the
journalist prefer coffee to tea.

{iv)] The industrialist and D and A are friends to one another but two of them prefer coffee to
tea.

(v} The horticulturist is C's brother.

Who is the horticulturist?

(1) A 2 B
#H C (4 D

gcollegedunia




Objective Question
57 30057

Frafafm T #1 s e B i By v w sl
(i) 9= =fEE A, B, C, D 3R E %1 0% 99 #|
(i) T H UF GEH 2, UF diE G 8, U wEeR 2, UF TEhid # o o adhie 2

(i) FHF @ : A, C 3R THG F6 A FAN G =T e B & 30 FH 4 7 - B 3N TEL 99
1 g § FIE e FA B

(iv) FETIfd 3R D 9w A U g F g | g I A g1 91 i =90 w6 16e 4 E

(v) =TEE C W OTE

WA w27

(1) A 2) B
(3) c ) D

Al

A2

A3

A4

Go through the following information carefully and answer the given questions.
(i}  There s a group of five persons — A, B, C, D and E.

(ii) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist and one is an advocate.

(i1i) Three of them — A, C and advocate prefer tea to coffee and two of them — B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another but two of them prefer coffee to
tea.

(v} The horticulturist is C's brother.

Who 1s the industrialist?

W cC 2 B
(3) D 4 E

Frefrfern wrerd =1 e e T sik R e s I )
(i) =R A, B, C, D 3R E &1 0% |98 &l
(i) 39 4 UF AVEM &, U il FEE R, U TR #, 06 IO & 3 0 a6 2

(i) FH A A : A, C 3R THIA HIhl HiT o0 4 =9 THE TG & W FH G & - B 3N w=ER A0
I g1 H S g w2

(iv) IR 3R D AW A U gECF I E 0 I F 91 9w i 99 F6 96 F B

(v) SFEH C T #

Feafa A B

(n c @ B
» D 4 E
M

1

4.0 1.00
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Objective Question
58 30058

Objective Question
59 30059

A2

A3

A4

Go through the following information carefully and answer the given questions.
(i)  There is a group of five persons — A, B, C, D and E.

(it} One of them iz a horticulturist, one iz a physicist, one is a journalist, one iz an
industrialist and one is an advocate.

(i) Three of them — A, C and advocate prefer tea to coffee and two of them — B and the
Jjournalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another but two of them prefer coffee to
tea.

(v)  The horticulturist is C's brother.
Which of the following groups includes a person who likes tea but is not an advocate?

1y AC 2y AD
3 BD 4) CB

Freaffigs sl =1 s s =t sl fag o o W I E)
(i) = =fEE A, B, C, D 3R E #1 0% 998 3|
(i) T H UH GPEE &, UF Aiids fGWE 8, U6 TR #, U AR § #HT 0% 99 2l

(i) FH A T : A, C 3R THE F A AN G =T9 G B & 3L FH A 7 - B IR TER 719
1 o § FIE g w1 B

(iv) TP 3R D 91 A U gEL % 964 2 T 0 9 g1 9™ F1 G910 S 96e F 2

(v} =EH C & 9E B

Frafafn § & frm 1 8 aqg =afs mite @ T8 = g @ = = 5@ 76 27

(1) AC 2) AD
(3) BD (4 CB

Al

A2

A3

A4

4.0 1.00

4.0 1.00
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Objective Question
60 30060

Go through the following information carefully and answer the given questions.
(1)  There is a group of five persons — A, B, C, D and E.

(i) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist and one is an advocate.

{111) Three of them — A, C and advocate prefer tea to coffee and two of them — B and the
journalist prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another but two of them prefer coffee to
tea.

(v} The horticulturist i3 C's brother.

Who 15 a Physicist?

(1) A 2 B
(3) C “4 D

frerfrflan s =1 ergEe s W sl Ry g s w1 3w )
() v =fEE A B, C, D 3R E %1 7% 898 &1
(i) T H UH AVEA B, TF Gif0s B R, T @A R, T I # 50 U 99 2

(i) I F A A, C 3N T HIE B geT § 99 THE Fd £ S 6 ° g - B 3 mEn 9|
1 qo § FH THg Hd 2

(iv) FEPM 3R D T4 A UF T F ORA & T 3 8 3 G S a9 F6 76 F 8

(vi SFEA C F 9 8

¥iifersh famrfl # 2 7

(1) A 2 B
(3) c 4 D

Al

A2

A3

A4

Go through the following information carefully and answer the given questions.
(i)  There 1s a group of five persons — A, B, C, D and E.

(i) One of them is a horticulturist, one is a physicist, one 18 a journalist, one 15 an
industrialist and one is an advocate.

(iti) Three of them — A, C and advocate prefer tea to coffee and two of them — B and the
journalist prefer coffee to tea.

(iv) The industrialist and D) and A are friends to one another but two of them prefer coffee to
tea.

(v) The horticulturist is C's brother.
Which of the following group likes coffee only?

(1) AB @ CD
(3) BE (4) BD

4.0 1.00
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Objective Question
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30061

30062

Freaferfaa srer &1 sargds s &t ol Ry T e W IR )
(i) = =REE A, B, C, D 3R E &1 0% |98 &1
(i) I H UF GEA &, TF HiidE G #, U6 THE 2, UE Jgnfd # 3 U 96 2

(i) FH A : A, C 3R THiw Fhl H o0 § @ 96 B 8 S FH H 5 - B 3R =R 91
1 ge H i e Fd 8
(iv) O R D T4 A UF GE % g & T 9 | ¢ 919 il G900 Hht THE Hd &

(v) HSFEHE C W E #

Frrfofige & 1 |1 TR Fee 6 THe H R 7

(1) AB (2) CD
(3) BE (4 BD
Ay
1
A2,
2
-,
3
Ay
4
) . . . ) . . 4.0 1.00
‘Which of the following 1s the National Aquatic animal of India?
(1}  Whale (2) Deolphin
(3) Shark (4) Tiger
frfafea & @ wma =1 09 SofE w8 A ey
n = (2) eifew
(3 (1) =™
M
1
A2y
2
A
3
o
4
. vy ypp— . ] 4.0 1.00
Which award 1s given for hifetime achievement in Sports and Games?
(1) Arjuna Award (2) Dhyanchand Award
(3) Rajiv Gandhi Khel Ratna (4) Dronacharyva Award
TEAFE B ST (e RN S A R 7

(1) 3193 [ (2) ©ATEE TR I duni
P oo @ sty collegeduniz




63

64

Objective Question

30063

Objective Question

30064

Al
A2
A3

A4

4.0 1.00
Which of the following is the “highest honour™ given by France?
(1) Presidential Medal of freedom
(2) Legend of Honour
(3) Victoria Cross-member of British Empire
(4) The Order of the Golden Star
Hid g e 9m A CHdTE R 6 6187
(1) = 1 Tgud e (dSERms fea A7 wiem)
(2) wE = 9 Afea (G J7F 5170)
(3)  fafes awrsa =1 o wig-tem (R se-tem 51 ot mm
(4)  Tieed =W H HE (€ Al AE ¢ Tesd =N
Al
1
A2y
2
A3
3
Aty
4
4.0 1.00

Which is the correct order of precedence in our country?

(1)
(2)
(3)
(4)

Chief Justice of India. President. Prime Minister, Governor
President. Vice President. Prime Minister. Governor
Preczident. Chief Justice of India. Deputy Prime Minister. Governor

Prime Minister. Governor., Chief Justice of India. Former Presidents

FOR 9§ ST 1 Od %9 | e e

1)
(2)
(3)
4)

Al

ANA 1 [ A, g, 99H 5=, =
TEfd, TP, TEEE, =

Tgfd, WA 1 T A, I9-ggEeE, T
W], e, YRA P e, 6 o
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Objective Question
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Objective Question
66 30066

Objective Question
67 30067

A2
A3

Ad

Who 1s the author of the book TOM SAWYER?

(1) Leo Tolstoy (2) Jane Austen
(3) H.G.Wells (4) Mark Twain

‘TOM SAWYER' 7+7% &1 @& #H &7

- -

(1) o ofewera (2) 59 FEA
(3) TEE. dm (4) W& T

Al
A2
A3
A4

Who was the first Indian to win a Nobel Prize for literature?

(1) C.V. Raman (2) Mother Teresa
(3) Amartva Sen (4) R.N.Tagore

Hifera & o Fae R T & e 9o 9RdE S ar

(v HA oE (2) TEL
3 AT (4) A, TR

Al
A2
A3

Ad

4.0 1.00
4.0 1.00
4.0 1.00
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Amjad Ali Khan is associated with which of the following musical instruments?
(1)  Flute (2) Sarod
(3) Sitar (4) Shehnai

Trfafian & & feg w0 T % M9 g o @F w1 HEg 20

(1) =igd (2) e
@ faw @) s

Al
A2
A3
A4

Objective Question

68 30068 4.0 1.00
In which eity were 2016 Olympic Games held?

(1) Rio de Janeiro (2) Beyjing
(3) Sydney (4) Tokyo
a4 2016 F HAiferlum & form wen o Ho gu 47

1 feEr-fe—m (@) wifsm
3 fa=f (4) 2

Al
A2
A3
A4

Objective Question
69 30069 4.0 1.00
Ligaments and Tendons in the body are made up of

(1) Skeletal Tissue (2) Muscular Tissue
(3) Connective Tissue (4) Epithelial Tissue
TR F sfeEy iR woen T O @ el =5 @9 #9

(1) e F9% (2) (uig) T3 =

(3)  HEe I (1) TTHeT FaF
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Objective Question

71

30070

30071

Al
A2
A3

A4

Which place is referred to as “Land of Midnight Sun”

(1) Japan (2y Korea
(3) Norway (4) Finland

fafafaa 4 & faa wm =t wﬁrﬁw@ ET| ‘l-[ﬁ (Land of Midnight Sun) & =1 #7

(1  =mA (2) =ifE
@ A4 4 TEeis

Al
A2
A3

Ad

Who among the following was known as "Punjab Kesari™

{1) Lala Lajpat Ra1 (2) Bal Gangadhar Tilak
(3) Sardar Patel (4) Pt. Madan Mohan Malviya

Ffafaa @ @ 9 T9m S F 9m ¥ 9 @ e

(1) ST = T8 (2) = TR faes

(3)  HER 9% (4) . HeTHTEA HIETE
Al
A2

A3

4.0 1.00

4.0 1.00

gcollegedunia




Objective Question
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Objective Question
73 30073

Objective Question
74 30074

A4

India’s National Academy of Literature is called

(2) Kalakshetra Foundation
(4) Swadesh Darshan

(2) HeTER HEEE
(4) +=mgEn

(1) Lalit Kala Akadem1
(3)  Sahitya Akademi
WA 1 T A AfEas 56 FEem &
(1) =Afera e wwmed
(3  wiEe s
Al
1
A2,
2
A
3
M
4

In which of the following years was the first Battle of Panipat fought?

8]
(3)

1526 AD
1539 AD

(2) 1527 AD
(4) 1556 AD

aHTa F1 wem weE Frefeted 1§ 8 e ad 1 g ot

(1
@)

Al

A2

A3

Ad

Who gave us these famous lines —

1526 AD
1539 AD

2 1527 AD
) 1556 AD

“Sarfaroshi ki Tamana. Ab hamare dil mein hai”?

(1)
(3)

Ram Prasad Bismil
Bal Gangadhar Tilak

(2) Bhagat Singh

(4) Dr. Mohammed Ighal

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
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Objective Question
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30075

30076

Frafafiaa wftg ofwal e 6 g8 87
“HIEAE <l A, 39 gEn fem o 2

(1) TER fafe @) wm faw
(3) == TR e (4) =i, WEwg sFEE
Ay
1
A2y
2
i
3
Ay
4
4.0 1.00
In which year did Rakesh Sharma, the first Indian go to space?
1) 1969 (2) 1973
3 1984 4y 1997
TS Wi, WA w1 o At an e ad § sdafe § e
(1) 1969 2 1973
(3) 1984 4y 1997
Ay
1
A2y
2
A
3
Ay
4
4.0 1.00

Which of the following is not a disease of bones?

(1) Arthiritis (2) Gout
(3) Rickets (4) Leukemia

ffafaa 4 @ =1 @ i st W 9 27

1 s (@) e
(3 Them (4)  weshifean

Al

1
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Objective Question
77 30077 4.0 1.00
Which of the following is used to measure Atmospheric Pressure?
(1) Altimeter (2) Barometer
(3) Hydrometer (4) Thermometer
AEEE g & Fefafes § | e s g A s 27
(1)  Framm (@) ==
(@) FEEEEET (4) =wmETE (ATEnd)

.:Al
A2
A3
A4

Objective Question

78 30078 4.0 1.00
Who is associated with the invention of Aeroplane?

(1) Sir Frank Whittle {(2) G. Daimler
(3) Etienne Oehmichen (4) Wilbur Wright

FEE 1 Ffaswn e | | e fwn e

(1) =& & 2 . Tew
(3 o e (4) faem e

Al
A2
A3

A4

Objective Question OI |e d U nia
79 30079 4c0 g&)
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In which year was Niti Aayog established?
(1) 2012 (2) 2015
(3) 2017 (4) 2018

Sifr sl i o fow a8 f o7

(1) 2012 (2 2015
3 2017 (4) 2018

Al
fxz
A3
A4

Objective Question
80 30080 4.0 1.00
Who 1s the present Chief Justice of India?

(1) Justice Dipak Mishra (2) Justice T.S. Thakur
(3) Justice H.L. Lahoti (4) Justice Chandra Chud
T <1 FOAA BT A wE £
(1) = e e (2) = fuE, I
(3) =T =, qwe (4) =mEHE =3 T8
Ay
1
A2,
2
s
3
Ay
4

Objective Question

81 30081 4.0 1.00
Which of the following is not our fundamental right as per our Constitution?

{1}  Right to equality (2) Right to freedom of Religion
(3)  Right to Freedom (4) Right for exploitation
FAI HfagH % qege fe § & F6 W 2w difees sfuwn T A

(1)  H9Har 1 AaHR (2) =il AT & 3aFR
(3) A1 1 AER (4) ST = IR

gcollegedunia



Objective Question
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Objective Question
83 30083

Al

A2

A3

A4

Which 1= the local regional language of Bihar State?

(1) Bhojpuri (2) Bundeli
(3) Bihari (4) EKhasi
fagr =1 i vt & = R
(1)  segh (2) deet
@ Tl () =
Al
1
2,
2
A3
3
Ay
4

Japanese art of flower arrangement 1s known as -

(1) Ikebhana (2) Bonsal

(3) Ongami (4) Moribana
o e i A wen e 5 | A Ry

(1)  Fham (2) =T
(3) s (4) dArEm

Al
A2

A3

4.0 1.00

4.0 1.00
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Objective Question
84 30084

Solar eclipse occurs when -

(1) Earth comes between Sun and Moon.
(2) Moon is at right angle to the Earth.
(3) Moon comes between Sun and Earth.
(4) Sun comes between Moon and Earth.
Td 7Ew 79 g €, 9
(1) = T =W F @9 9 o A E (2) g, BT H FHE W R B
(%) o 9 7o % E= g T\ (4) == 991 9o & &1 [ an S 2
Ay
1
A2
2
A
3
Ay
4

Objective Question
85 30085

Acid Rain is caused due to —

(1) Deforestation (2) Carbon dioxide
(3) Carbon monoxide (4) Oxides of Sulphur and Nitrogen
37 =1 T < e B 7
(1 e (2) wEA SEATFEED
(3) e O AT (4) T AU AGREH + SRS
ALy
1
",
2
i
3
Ay
4

Objective Question
86 30086

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
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Objective Question
88 30088

Which country has the largest rail network in the world?

(1) India (2) UK
(3) China (4) UBSA
T fova § ToFE 49 &1 1 TeaS 99E =9 A7
(1 W 2 1%
(3 == (4) ZTAL
Ay

1
A2,

2

3
Ay

4

Which of these major International Lawn Tennis Event is played on Grass Court?
(1) USopen (2) Wimbledon

(3) Australian open (4) French open

e | &, @1 2 w1 S A e AW S 9 6 HH e A8 7

(1)  ZuE. 3= 2) famEersT
3 FEfmEs s (4) F= 3w

Al

A2

A3

A4

Super computer "PARAM™ was developed by -

(1) TATA (2) IIT Eharagpur
(3) IIT Kanpur (4y C-DAC

T Fr W F e T ey

(1) TATA (zm) (2) IT@==TR
(3) NIT=Ax (1) C-DAC

4.0 1.00

4.0 1.00
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Objective Question
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Objective Question
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30089

30090

Al
A2
A3
fx4

Which of the following Vitamin is exereted by humans in urine?

(1) Vitamin A (2) Vitamin D

(3) Vitamin C (4) Vitamin E
A g 9§ Il e ww A fefe e g

(1) fyzfm A (2) fa=fm D
(3) fwfmC (4) fEatmE

Al
A2
A3
A4

In which field, did Professor Amartya Sen receive the Nobel Prize?

(1) Literature (2) Sports

(] Economics (4) Music

TREL A 3 H A TR 6 & § aw gy

(1) =fed (2) wE-Fe
3) e (4) wifm

Al
A2

A3

4.0 1.00

4.0 1.00
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Objective Question
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Objective Question
92 30092

Objective Question
93 30093

A4

Fill in the blank with the most appropriate option given below.

She silver medal in the race.
(1) have got (2) Thas got
(3) did not got (4) does not gets

Fill in the blank with the most appropriate option given below.
She silver medal in the race.

(1) have got (2) has got
(3 did not got (4) does not gets

Al
A2
A3

A4

Fill in the blank with suitable alternatives given:

Once she has signed the deal papers, she won't be able to
(1) Backup {(2) Backin
(3 Back it (4) Back out

Fill in the blank with suitable alternatives given:

Once she has signed the deal papers, she won't be able to
(1) Backup {(2) Backin
(3 Back it (4) Back out

Al
A2
A3

A4

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
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Objective Question

95

30094

30095

Fill up the blank with suitable alternatives given:

The crew was afraid. but the captain them that there was no danger.
(1) promised (2) advised
(3) assured (4) commented

Fill up the blank with suitable alternatives given:

The crew was afraid. but the captain them that there was no danger.
(1) promised (2) advised
(3) assured (4) commented
A
1
A2y
2
Ay
3
Ay
4
4.0 1.00
Fill up the blank with suitable alternatives given:
The two groups have been engaged in a bitter for the past three decades.
(1) fight (2) intent
(3) arrangement (4) event
Fill up the blank with suitable alternatives given:
The two groups have been engaged in a bitter for the past three decades.
(L fight (2) intent
(3) arrangement (4) event
Al
1
A2,
2
Ay
3
Ay
4
4.0 1.00
My house help with all my money.
(1) Have escape (2) Hasrun away
(3) Was run away (4) Running away

:
gcollegeduma
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My house help with all my money.

(1) Have escape (2) Hasrun away

(3)  Was run away (4) Running away
Al
A2
A3
A4

Objective Question
96 30096 4.0 1.00
Fill up the blank with suitable alternatives given:

The audience listened to the artist with attention.
(1) Rapt (2) Wrapped
(3) Roped (4) Rapped

Fill up the blank with suitable alternatives given:

The audience listened to the artist with attention.
(1) Rapt (2y Wrapped
(3) Roped (4) Rapped

{\1
{\2
:A3
54

Objective Question
97 30097 4.0 1.00
Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).
(1) I was taken with surprise (2) Whenl saw
(3 The beautiful building of Red Fort (4) No error

Find out which part of the sentence has an error and choose that part as your answer out of
(1), (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) I was taken with surprise (2) WhenI saw
(3) The beautiful building of Red Fort (4) No error

1
gcollegedunia
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Objective Question

98 30098 4.0 1.00
Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) Freedom Fighters laboured (2) To the good of

(3 The poor enslaved masses (4) No error

Find out which part of the sentence has an error and choose that part as your answer out of
(1), (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) Freedom Fighters laboured (2) To the good of

(3) The poor enslaved masses (4) No error
:Al
.AZ
:A3
,A4

Objective Question

99 30099 4.0 1.00
Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence iz free from any error, then choose your answer as choice (4).

(1) I was shocked to hear (2) That her son
(3) died of an accident (4) No Error

Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) I was shocked to hear (2) That her son
(3 died of an aceident (4) No Error
Al

1
A2y

2
Ads

3

Ay gcollegedunia
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Objective Question

100 30100 4.0 1.00
Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).
(1) No one wants to drive to work anymore
(2) Because of the rally
(3) At such an hour
(4) No error
Find out which part of the sentence has an error and choose that part as your answer out of
(1), (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).
(1) No one wants to drive to work anymore
(2) Because of the rally
(3) At such an hour
(4) No error
Al
1
A2y
2
i
3
Ay
4
I\SI(r).. Client IQ[;l estion Question Body and Alternatives Marks N&iii:e
Objective Question
101 30101 4.0 1.00

Objective Question
102 30102

Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

2
4)

(1) Essay writing is an art

(3) On the part of the writer

That requires many planning

No error

Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

@)
4)

(1) Essay writing is an art

(3) On the part of the writer

That requires many planning

No error
.Al
.AZ
.A3

A4
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Find out which part of the sentence has an error and choose that part as your answer out of
(1), (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) He seldom or ever (2) Goes to meet

(3) His parents (4) No error

Find out which part of the sentence has an error and choose that part as your answer out of
(1), (2) and (3). If the sentence is free from any error. then choose your answer as choice (4).

(1) He seldom or ever (2) Goes to meet

(3) His parents (4) No error

Al
A2
f\3
A4

Objective Question

103 30103 4.0 1.00
Four alternatives are given for the Idiom/Phrase given below. Choose the alternative which

best expresses the meaning of the Idiom/Phrase.

To turn a deaf ear
(1) To show one’s deaf ear to a Doctor (2) To disregard totally
(3 To pay attention to (4) Not to come to the point

Four alternatives are given for the Idiom/Phrase given below. Choose the alternative which
best expresses the meaning of the Idiom/Phrase.

To turn a deaf ear

(1) To show one’s deaf ear to a Doctor (2) To disregard totally

(3) To pay attention to (4) Not to come to the point
Al
1
2,
2
A3
3
Ay
4

Objective Question

104 30104 4.0 1.00
Four alternatives are given for the underlined Idiom/Phrase given below. Choose the

alternative which best expresses the meaning of the Idiom/Phrase.

He surprised everyone by his performance and proved to be a dark horse.
(1) A pedigree horse (2) Favourite in race
(3 Unexpected winner (4) A difficult player

:
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Four alternatives are given for the underlined Idiom/Phrase given below. Choose the
alternative which best expresses the meaning of the Idiom/Phrase.

He surprised everyone by his performance and proved to be a dark horse
(1) A pedigree horse (2) Favourite in race
(3) Unexpected winner (4) A difficult player

Al

A2

A3

A4

Objective Question

105 30105 4.0 1.00
Choose the alternative which best expresses the meaning of the Idiom/Phrase.

To break the ice
(1) To keep cool (2) Tobreak silence by speaking first
(3 To start work (4) Tobreak the idea

Choose the alternative which best expresses the meaning of the Idiom/Phrase.

To break the ice

(1) To keep cool (2) To break silence by speaking first
(3) To start work (4) Tobreak the idea
Ay
1
2,
2
A3
3
Ay
4
Objective Question
106 30106 4.0 1.00
Choose the alternative which best expresses the meaning of the Idiom/Phrase.
A red letter day
(1) An unimportant Day (2) A festive occasion
(3) An insignificant Day (4)  An important Day

Choose the alternative which best expresses the meaning of the Idiom/Phrase.
A red letter day

(1) An unimportant Day (2) A festive oceasion
(3) An insignificant Day (4)  An important Day

Al

1
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A2

A3

Ad

Objective Question

107 30107 4.0 1.00
Choose the alternative which best expresses the meaning of the Idiom/Phrase.

To be at sixes and sevens
(1) To be Burdened (2) Tobe a great success
(3) To be uncertain (4) To be extravagant

Choose the alternative which best expresses the meaning of the Idiom/Phrase.

To be at sixes and sevens

(1) To be Burdened (2) To be a great success
(3) To be uncertain (4) To be extravagant
Ay
1
A2,
2
A
3
My
4
Objective Question
108 30108 4.0 1.00
Choose the alternative which best expresses the meaning of the Phrase/Idiom.
Bag of Bones
(1) A very thin person (2)  Abag full of Bones
(3) A dead person (4) A carcass

Choose the alternative which best expresses the meaning of the Phrase/Idiom.

Bag of Bones
(1) A very thin person (2) Abag full of Bones
(3) A dead person (4) Acarcass
Al
1
A2
2
A3
3

A4 .
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Objective Question

109 30109 4.0 1.00
Out of the four alternatives, choose the word which best expresses the meaning of the given
word:

METICULOUS
(1) FALSE (2) CAREFUL
(3) CASUAL (4) CAREFREE
Out of the four alternatives, choose the word which best expresses the meaning of the given
word:
METICULOUS
(1) FALSE (2) CAREFUL
(3) CASUAL (4) CAREFREE
Ay
1
A2,
2
A3
3
Ay
4

Objective Question

110 30110 4.0 1.00
Choose the word which best expresses the meaning of the given word:

BARTER
(1) seize (2) remove
(3) steal (4) exchange

Choose the word which best expresses the meaning of the given word:

BARTER
(1) seize (2) remove
(3) steal (4) exchange
ALy
1
2,
2
Ay
3
Ay
4
Objective Question
111 30111 4.0 1.00
Choose the word which best expresses the meaning of the given word:
ACCOLADE

()  CLUMSY (2) PRAISE
(3  INACTIVE (4 ORTHODOX g collegedunia




Objective Question
112 30112

Objective Question
113 30113

Choose the word which best expresses the meaning of the given word:

ACCOLADE
(1) CLUMSY (2) PRAISE
(3) INACTIVE (4) ORTHODOX

Al

A2

A3

Ad

Choose the word which best expresses the meaning of the given word:

YARD STICK
(1) STANDARD (2) STATISTICS
(3) MARK (4) SIZE

Choose the word which best expresses the meaning of the given word:

YARD STICK
(1) STANDARD (2) STATISTICS
(3) MARK (4) SIZE

Al
1
A2y
2
Ay
3
Ay

4

Choose the word which best expresses the meaning of the given word:

TEDIOUS
(1) PAINFUL (2) TIRESOME
(3) TROUBLESOME (4) LENGTHY

Choose the word which best expresses the meaning of the given word:

TEDIOUS
(1) PAINFUL (2) TIRESOME
(3) TROUBLESOME (4) LENGTHY

Aly

1

4.0 1.00

4.0 1.00
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Objective Question
114 30114

Objective Question
115 30115

A2

A3

A4

Choose the word which best expresses the meaning of the given word:

DEPLETE
(1) DESTROY (2y JOoY
(3) EXHAUST (4) FINISH

Choose the word which best expresses the meaning of the given word:

DEPLETE
(1) DESTROY (2) JOY
(3) EXHAUST (4y FINISH

Al
A2
A3

A4

Choose the word which best expresses the meaning of the given word:

RECTIFY
(1) CORRECT (2) TO COMMAND
(3) DESTROY (4 TO BUILD

Choose the word which best expresses the meaning of the given word:

RECTIFY
(1) CORRECT (2) TO COMMAND
(3) DESTROY (4) TOBUILD

Al
A2
A3

A4

4.0 1.00

4.0 1.00
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Objective Question
116 30116

Objective Question
117 30117

Objective Question
118 30118

Choose the word opposite in meaning to the given word:

AUTHENTIC
(1) GENUINE (2) RELIABLE
(3) VALID (4) FICTITIOUS

Choose the word opposite in meaning to the given word:

AUTHENTIC

(1) GENUINE (2) RELIABLE
(3) VALID (4y FICTITIOUS
ALy
1
A2,
2
Adg
3
M

4

Choose the word opposite in meaning to the given word:

BRITTLE
(1) STRONG (2) FRAIL
(3) FRAGILE (49 DISMAL

Choose the word opposite in meaning to the given word:

BRITTLE
(1) STRONG (2) FRAIL
(3) FRAGILE (49 DISMAL

Al
A2
fxs
A4

Choose the word opposite in meaning to the given word:

COMPASSION
(1) kindness (2) sympathy
(3) cruelty (4) empathy

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
119 30119

Objective Question
120 30120

Choose the word opposite in meaning to the given word:

COMPASSION
(1) kindness (2) sympathy
(3) cruelty (4) empathy

Al
A2
A3

A4

Choose the word opposite in meaning to the given word:

DISASTER
(1) calamity (2) prosperity
(3) misfortune (4) mishap

Choose the word opposite in meaning to the given word:

DISASTER
(1) calamity (2) prosperity

(3)  misfortune (4) mishap
{% 1
A2
A3

Ad

Choose the word opposite in meaning to the given word:

FATIGUE
(1) VIGOUR (2) EXHAUSTED
(3) TIREDNESS (4) WEAEKNESS

Choose the word opposite in meaning to the given word:

FATIGUE

(1) VIGOUR (2) EXHAUSTED
(3) TIREDNESS (4) WEAEKNESS
Al

4.0 1.00

4.0 1.00

:
gcollegeduma
India’s largest Student Review Platfor




Objective Question
121 30121

Objective Question
122 30122

A2

A3

Ad

Choose the word opposite in meaning to the given word:

MODERATE
(1) limited (2) reasonable
(3) lenient {4) excessive

Choose the word opposite in meaning to the given word:
MODERATE
(1) limited (2) reasonable

(3) lenient {4) excessive
.Al
.AZ
:A3

A4

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) LATESON (2) LASION
(3) LASSION (4) LIAISON

Four words are given, out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) LATESON (2) LASION
(3 LASSION (4) LIAISON
Al
1
A2y
2
Ads
3

Ay

4.0 1.00

4.0 1.00
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Objective Question
123 30123

Objective Question
124 30124

Objective Question
125 30125

Four words are given, out of which one word is spelt correctly. Choose the correctly spelt

word:
(1) immence
(3) imence

Four words are given, out of which one word is spelt correctly. Choose the correctly spelt

word:

(1) immence

(3) imence

Al

A2

A3

A4

Four words are given,

word:

(1) HOLISTIC
(3) HOLESSTICE

Four words are given,

word:

(1) HOLISTIC
(3) HOLESSTICE

Al

A2

A3

A4

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt

word:

(1) PROPIRTY
(3) PROPRITARY

(2)
(4)

(2)
(4)

out of which one word is spelt correctly. Choose the correctly spelt

(2)
4

out of which one word is spelt correctly. Choose the correctly spelt

(2)
4)

2
4

immense

immenze

immense

immenze

HOLEISTIC
WHOLISTIC

HOLEISTIC
WHOLISTIC

PROPERTY
PROPORITY

4.0 1.00
4.0 1.00
4.0 1.00
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Objective Question
126 30126

Objective Question
127 30127

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) PROPIRTY (2) PROPERTY
(3) PROPRITARY (49 PROPORITY

Al
A2
A3

A4

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) PREMMISES (2) PREMIISES
(3) PREMISES (4) PREEMISES

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) PREMMISES (2) PREMIISES
(3) PREMISES (4) PREEMISES

Al
A2
A3

A4

Four words are given, out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) ASSIMILATED (2) ASSIIMILATED
(3)  ASCIMILATED (4) ASCEIMILATED

Four words are given. out of which one word is spelt correctly. Choose the correctly spelt
word:

(1) ASSIMILATED (2) ASSIIMILATED
(3)  ASCIMILATED (4) ASCEIMILATED

Al

4.0 1.00

4.0 1.00
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Objective Question
128 30128

Objective Question
129 30129

A2

A3

A4

A part of the sentence is underlined. below are alternatives (1), (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Ram is wearing his hat as it is getting very cold.
(1) getting on (2)
(3) taking on (4)

putting on

no improvement

A part of the sentence is underlined, below are alternatives (1), (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Ram is wearing his hat as it is getting very cold.
(1) getting on (2)
(3) taking on (4)

putting on

no improvement
Ay
1
o
2
A3
3
Ay

4

A part of the sentence is underlined. below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The Host offered the coffee but I denied it.
(1) zaid no (2)  rejected

(3) refused (4} no improvement

A part of the sentence iz underlined. below are alternatives (1). (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The Host offered the coffee but I denied it.

() smdno D) wejatei
(@)  rofused Wi o iapmescmont
M
1
A2,
2
Ads
3

4.0

4.0
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Objective Question
130 30130

Objective Question
131 30131

Objective Question
132 30132

A4

A part of the sentence is underlined. below are alternatives (1). (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The teacher gave the students some advice.
(1) Advices (2) advise
(3) Advises (4) No improvement

A part of the sentence is underlined, below are alternatives (1), (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The teacher gave the students some advice
(1) Advices (2) advise

(3) Advises (4) No improvement

Al

A2

A3

Ad

A part of the sentence is underlined, below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Few men were knocked down by a speeding car.

(1) Turned down (2)  Pulled down
(3) Brought down (4) No improvement

A part of the sentence is underlined, below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Few men were knocked down by a speeding car.
(1) Turned down (2}  Pulled down
(3) Brought down (4) No improvement

Al

A2

A3

A4

4.0 1.00

4.0 1.00
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Objective Question
133 30133

Objective Question
134 30134

A part of the sentence is underlined. below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Seema was working overtime for the last few weeks.
1) working (2) Is being working
(3) Has been working {(4) No improvement

A part of the sentence is underlined. below are alternatives (1). (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

Seema was working overtime for the last few weeks.
1) working (2) Is being working
(3) Has been working {(4) No improvement

Al

1

A2,

2

A3 5
3
Ady

4

A part of the sentence is underlined, below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The floor of the hall was covered by a carpet.
(1) Covered in (2) Covered with
(3) Covered upon (4) No improvement

A part of the sentence is underlined, below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

The floor of the hall was covered by a carpet.

(1) Covered in (2) Covered with
(3) Covered upon (4) No improvement

Al
1
A2y
2
3
Aty

4

A part of the sentence is underlined. below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

This house is belonging to me for two years.
(1) Had been belonging (2) Is belongs
(3) Has belonged (4) No improvement

4.0 1.00

4.0 1.00

:
gcollegeduma
India’s largest Student Review Platfor




Objective Question

135

Objective Question

136

30135

30136

A part of the sentence is underlined, below are alternatives (1), (2). (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.

This house is belonging to me for two years.

(1) Had been belonging (2) Is belongs
(3) Has belonged (4) No improvement
Al
1
A2y
2
A
3
Ay
4
4.0 1.00
A part of the sentence i= underlined. below are alternatives (1), (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.
He has a very good command on Mathematies.
(1) to (2) of
(3) in (4) no improvement
A part of the sentence i= underlined. below are alternatives (1), (2), (3) which may improve
the sentence. Choose the correct alternative. Choose (4) if no improvement is required.
He has a very good command on Mathematies.
(1) to (2) of
(3) in (4) no improvement
Ay
1
A2y
2
A
3
Ay
4
4.0 1.00
Fill in the blank:
I him since my childhood.
(1) know (2)  has been knowing
(3) have known (4) had been known
Fill in the blank:
I him sinee my childhood.
(1) know (2) has been knowing
(3 have known {(4) had been known

:
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Objective Question

137

Objective Question

138

30137

30138

Ay
1
A2,
2
A
3
Ay
4
Fill in the blank:
It raining here for two hours.
(1) have been raining (2)
(3) have has been (4)
Fill in the blank:
It raining here for two hours.
(1) have been raining (2)
(3) have has been (4)

Al
A2
A3

A4

Fill in the blank:
The army has been
(1) Awakened
(3) Warned

Fill in the blank:
The army has been
(I) Awakened
(3)  Warned
Al
1
A2
2
A

3

4.0 1.00
has been raining
had has been
has been raining
had has been
4.0 1.00

to be ready to control the floods.

(2)
()

Alerted

Wanted

to be ready to control the floods.

(2)
(4

Alerted

Wanted
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Objective Question
30139

139

Objective Question
30140

140

Objective Question

141

30141

A4

Fill in the blank:

I see certain problems in
(1) the
(3 an

Fill in the blank:

I see certain problems in
(1) the
(3) an

Al

A2

A3

A4

Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) We know where it begins
(3) That where it ends

Find out which part of the sentence has an error and choose that part as your answer out of
(1). (2) and (3). If the sentence is free from any error, then choose your answer as choice (4).

(1) We know where it begins
(3) That where it ends

Al
A2
A3

Ad

execution of this plan.
& a
(4) on

execution of this plan.
& a
4) on

(2) But we don't know

(4) No error

(2) But we don't know

(4) No error

4.0 1.00
4.0 1.00
4.0 1.00
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Find out which part of the sentences has an error.

(1) Beware of

(2) A fair weather friend

(3) Who is neither a friend in a need nor a friend in deed
(4) No error

Find out which part of the sentences has an error.

(1) Beware of

(2) A fair weather friend

(3) Who is neither a friend in a need nor a friend in deed
(4) No error

Al
A2
A3
A4

Objective Question

142 30142 4.0 1.00
Find out which part of the sentences has an error.

(1) Seldom we have been treated (2) Insucharude manner

(3) By the police personnel (4) No error

Find out which part of the sentences has an error.

(1) Seldom we have been treated (2) Insucharude manner
(3 By the police personnel (4) No error

.Al
:AZ
..A3
.A4

Objective Question

143 30143 4.0 1.00
Find out which part of the sentences has an error.

(1) The property (2) Was divided
(3) Among the two brothers {4) No error
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Find out which part of the sentences has an error.

(1) The property (2) Was divided
(3) Among the two brothers (4) No error

Al
A2
A3
{\4

Objective Question

144 30144 4.0 1.00
Find out which part of the sentences has an error.

(1) Long life is good (2) If one be happy
(3) and has friends (4) No error

Find out which part of the sentences has an error.

(1) Long life is good (2) If one be happy
(3) and has friends (4) No error

{\1
{\2
A:A3
64

Objective Question

145 30145 4.0 1.00
Find out which part of the sentences has an error.

(1) His assistants have (2)  And are still doing

(3) Excellent work for the organisation  (4) No error

Find out which part of the sentences has an error.

(1) His assistants have (2)  And are still doing
(3) Excellent work for the organisation (4) No error
Al
1
A2,

2 .
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A
3
Ay
4
Objective Question
146 30146 4.0 1.00
Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection, comes the protection of other species and the habitat which they are all a
part of

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a vast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country’s national security as well as international

relations.
(vii) The high-altitude wildlife in India today faces a variety of threats.
(viii) The existing high altitude protected areas in India require considerable

strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question given below :

What is the purpose of the above passage/study?

(1) Snow Leopards are vulnerable species and must be protected.
(2) Are dangerous and must be left to die

(3) Are aggressive

4 Are rigid species
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Objective Question

Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

() India has ratified international agreements promoting the comservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage. answer the question given below :

What is the purpose of the above passage/study?

(1) Snow Leopards are vulnerable species and must be protected.
(2) Are dangerous and must be left to die

(3) Are aggressive

(4) Are rigid species
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Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection, comes the protection of other species and the habitat which they are all a
part of

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a vast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country’s national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question given below -

What do you mean by the phrase “Snow Leapard is considered an umbrella species™

(1)
2)
(3) They live under the umbrella

(4) They sleep under the umbrella

They mate under the umbrella.

—

Species whose protection will insure protection of other species.
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Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger. it is considered an umbrella species and
with its protection, comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question given below -

What do you mean by the phrase “Snow Leapard is considered an umbrella species™
(1)
2)
(3 They live under the umbrella

(4) They sleep under the umbrella

They mate under the umbrella.

—

Species whose protection will insure protection of other species.

Al

A2

A3

A4

~

collegedunia

India’s largest Student Review Platfor!




Objective Question
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Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir. Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually oceurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.
Based on your understanding of the passage, answer the question given below -

According to the passage high altitude regions should be protected? Why?

(1) As they are cold and beautiful

(2) As they are at a height

(3) As they support unique wildlife of global significance
(4) As it is a dynamic region
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Objective Question

Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir. Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only te
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

() India has ratified international agreements promoting the comservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.
Based on your understanding of the passage, answer the question given below -

According to the passage high altitude regions should be protected? Why?

(1) As they are cold and beautiful

(2) As they are at a height

(3) As they support unique wildlife of global significance
(4) As it is a dynamic region
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Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually oceurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger, it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a vast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country’s national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.
Based on your understanding of the passage. answer the question given below -

According to the passage what is integral to the nation’s food security?

(1) Wildlife (2) Population
(3 Fresh air (4) River systems
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Objective Question
150 30150

Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger. it is considered an umbrella species and
with its protection, comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question given below -

According to the passage what is integral to the nation’s food security?

(1) Wildlife (2) Population
(3) Fresh air (4) River systems
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Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger. it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.
Based on your understanding of the passage, answer the question given below -
‘Which Himalavan States comes under the Himalayan Region?

(1) J & K. Himachal, Uttrakhand, Siklkkim. Arunachal

2) Delhi
(3) Rajasthan
4 Raipur
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Objective Question
151 30151

Comprehension

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh. Uttarakhand. Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests. Government of India, in the year
2009 to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of =2700m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard. but as with Project Tiger. it is considered an umbrella species and
with its protection. comes the protection of other species and the habitat which they are all a
part of

Top 3 National Parks in India where the Snow Leopard can likely be seen
Kibber Wildlife Sanctuary — Himachal Pradesh

Ulley Valley — Ladakh

Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows :

(i) High altitudes of India =3000m including the Himalayan & Trans-Himalayan

biogeographic zones support a unique wildlife assemblage of global conservation.

(ii) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a wvast rangeland system supporting important traditional
pastoral economic and lifestyles.

(iv)  The region provides essential ecosystem services and harbours river systems vital for
the nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-
altitude wildlife species such as the snow leopard.

(vi)  The region is important for the country's national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable
strengthening.

(ix)  Wildlife Management in the region needs to be made participatory.
Based on your understanding of the passage, answer the question given below -
‘Which Himalavan States comes under the Himalayan Region?

(1) J & K. Himachal, Uttrakhand, Siklkkim. Arunachal
2) Delhi

(3) Rajasthan

4 Raipur
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Objective Question
152 30152

Your friend shouts at you due to some misunderstanding. She thinks that you have been
creating problems in her personal life, you would :

1
2)
(3}
4)

Shout back to her
Tell others that she is in a habit of doing it
Leave her and not talk to her

Make the first move to clear the misunderstanding

wHidma ufayd (oA & S0 R i s w S 9 faget 21 38 o 2 e s 3ues sl
e 1 g 30 K T B, uH Rt g

(1)
(2)
(3
&)}
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A2
A3

A4
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HATH &I G FH 1 T F4|

While returning home, after watching a late night movie show yvou found two people arguing
loudly on the way, yvou will :

(1
(2)
(3)
(4)

Ignore them and go your way
Ask them not to shout in the midnight
Inform the Police

Intervene between them, settle the argument amicably and proceed to your home

& afa 1 (e /=e=m) §8 F 918 W Aed F FA 1 9 F Sl S A 9 9 e 1§ 5w
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(1
(2)
(3
(4)
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Objective Question
153 30153

Objective Question
154 30154

You have joined a company. People around you are quite friendly and helpful. What would

vou do to start a conversation with them?

1)
(2)
(3)
4)

g forelt &0t § 92 ) oo STETTE % @R faesa fimea ol weEam A #) 5 W wEsia) &

Smile at everyone and say hello.
Go right up to everyone who seems approachable and start talking positively.
Take part in discussion that deal with work only.

Behave very formally.

TY AT S w0 5 feu s
(1) o Sich =i 3 TEHt GpUd B Fel el
(2)  UH® HEHHI o HUE @19 FH1 UG B @, 396 96 HY 0 SR AR a0d 9 @
Ercizuull
(3) Fao w6 § wafad == § 9w o
() =EA H A =R w0
1
A2,
2
A3
3
Ay
4

Your best friend has invited you for a lunch but the same day you came to know about the
interviews in the ‘Job Placement Cell of your college.

(1)
2)
3
4

Enjoy with your friend and you will attend such interviews next time.
Ring up your friend and explain the whole situation.
You miss the interviews and leave for lunch.

You keep grumbling and you are confused.

e gfe fim 3 sl W= w s e e o anes s e | el & T Preem
T H EHETe HIETTHE o a1 H A o] & A uE Rt 9 s s e

1)

(2)
(3)
(4)
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Objective Question
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While travelling in your car, certain persons stop you on the way and asks you to take an
injured child to the hospital. You would -

Objective Question

156

30156

(1) Ask them to leave your way and then drive away.

(2) Ask them to first call the police.

(3) Immediately take the child to the hospital.

(4) Get out of the car and ask some other person for help and will request him for taking

A FW A A A F FH A FO A A T F UHH A FE £ 6 0 OEE (IE) T

the child to hospital.

I T o =) e Rty s iy

(1)
(2)
(3)
4)
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T ST o A

When somebody asks your views regarding an issue

(1) You fail to give a realistic and precise answer,

(2) Your views are dependent on other’s views.

(3) You diplomatically answer in a very realistic and straight forward manner.
(4) Say anything that comes to your mind.

T 1§ A S TR 42 % AR F 39 e I % A g 8 A

1
2)
3
(4}
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Objective Question
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Objective Question
158 30158

A4

You are a member of a leading music group. During the performance, a judge asks you to

step forward and sing alone as you are the main singer of the group.

(1) You get distracted as the rest of the group is not with you.
(2) You concentrate on your singing to perform your level best.
(3 You form the opinion that you are going to be thrown out of the group.

(4) You keep thinking why wou were asked to sing alone and remain confused

throughout.

WY UF Hufag Hfas I9 F 95 & T59H & oHH U Toiias A6 Fad § 6 39 S0 A S
T i 3T YT & T A E A vl feufa § sy @ iy

(1) i faufeam & S F=ifE g7 % =96 d959 ST 51y 6 A

(2) 3T HTH T TSN H HEa ] T9ae 9e3E T S0
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Whenever Aman is free he likes to do painting, what type of Aptitude Aman has?

(1) Ability (2) Interest

(3) Weakness (4) None of the above

A F & o T (FHEEE) TE R A1 30 faa S T 21 98 S H R w5 e 2
a7 Tl ferm Fafes o 1 whEEE 77
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159 130159 4.0 1.00
An Epidemic spread in your village due to poor hygiene conditions, you will -
(1) Try to educate people about hygiene.
(2) Ignore as it is the job of Government.
(3 Intervene only if your family member get suffered.
(4) Shift to the other village.
WA F T W Eedl ) FH & w0 A TE °§ 9EEE e 7 A 56 g ° g a9 7
(1) =i # ==aa % 91 1 fafam =9 =1 vas w50
(2) 3T $Hh1 3R M TE 1 HiH 98 FR F FW Al
(3) 39 O SR HU 99 HH IS 9iEH 39 qEM R =9 3 A
(4) =8 TE = Bz fEE g T | == S
Ay
1
A2
2
Ay
3
Ay
4
Objective Question
160 30160 4.0 1.00

You went, out of India, for higher studies. Due to financial conditions your parents are
unable to send you money. You will -

(1) Leave your studies and come back to India.
(2) Do a part time job and complete your studies.
(3) Leave the studies and do full time job.

(4) Build a pressure on your parents to send you money.

Y I= e mEm wE & fom vy @ =@ =9 o ) e fadie ferfa % s s amar-fon
HTTh! B9 (W) H9d 0 sEmd | sy
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Objective Question
161 30161

Objective Question
162 30162

4.0 1.00
While talking to your friend on the phone, you realize some one from the back is playing
your favourite song. Then in this situation:
(1) Tell your friend that you are listening to the song .
(2) You are able to understand what your friend is saying and keep listening to the song
along with the conversation.
(3 Try to do both things together but cannot do either.
(4) Forget about the song and concentrate on your friend’s voice.
5 i 8 5F W 29 #0059 S0 T veed A 2 TR S A R s wem e e m g A
™ fegf | -
(1) =m e frm | w8 fF o T a8 R A
(2) AT 3 T S A B 9SG S A I A R F A e s T R
(3) 3 g1 M U WY HEH H A F 8 (g a1 4 | 5w T8 O 8
(4) 39 TE & TH § g S i 6 sEE g W en S 9 )
Ay
1
A2,
2
A3
3
Ay
4
4.0 1.00

You are going to school on Bike and all of a sudden the Bike breaks down. You ring up to
vour father and he says that he will be there in half an hour. You cannot do anything except
waiting for him. You

(1)
(2)
(3)
4)

M TEF W A A1 1 3R 3=EE J5F § FE T S0E 3 A 8 A" A= i #wE
A £ S0 FEd € 6 9 s w02 U wwi wga A s g s o S o weieme w6 fer
1 o7 faebeg 7 21 A1 w9

(1
(2)
(3
(1)

Al

A2

A3

A4

Continue to sit patiently and keep waiting for your father.
Feel a bit scared.
Experience extreme panic as the waiting period increases

Decide to go to any house nearby as it is getting more scary.

Gy Faa S fam = e i W )

ST =0 83N FE FA|

WAlE 1 T g W A SATRG 8 A |

TRt FER R H A 1 o w0 i Tt w9 o w6 o o R
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Objective Question

163 30163 4.0 1.00
You are alone at home when one of your niece gets badly hurt

(1) You start feeling panicky.
(2) You ask for your neighbour’s help
(3) You call up your parents and ask them to come fast.

(4) You call the family doctor immediately and go and sit beside her to keep watch in the
meantime.

T 39 qUE W W 3R & o T R afiE w niR Se el i A sm e 6
(1) 39 sATfha Teqs F- o 2
(2) 39 99 TS § FEEa o E

(3) 3T 3 AE-TI R W 3 Feol § 59 & o = #
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= E

Objective Question

164 30164 4.0 1.00
Your maid has invited you to her daughter’s wedding. You would -

(1) Completely ignore her.

(2) Attend the wedding.

(3 Buy a gift for her daughter and help in wedding.

(4) Congratulate her and make up some excuse for not being able to attend.

STahT Efaehr (Ftr) T et st < < el # e fean 2, 91 s

(1) 3! o F9E &4
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Objective Question
165 30165

Objective Question
166 30166

You were discussing some important issue with one of your colleague and you end up having
a fight. You would :

(1)
(2)
3
(4)

Ignore the whole situation and start chatting with others.
Blame her and move ahead.
Sit with her, and try to clarify things to sort out the matter.

Promise to your self that you will never talk to her in future.

¥y A Rl wgel % Ay et meel fawa w fanel w9 3R s s gl § e f o R
ot 3| feufa & smo -

(1
(2)
(3
(4

Al
A2
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A4
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I " 43 WA o e +3 & foe <fiwi =5 e i
=4 e w0 T am ufas § san e aa 1@ w00

If you have to prepare for your exam and at the same time prepare your project report, you

will :

(1)
(2)

(3
(4)

Do one thing at a time and plan out a Time Table and work accordingly.

Become anxious and impulsively do the tasks just for the sake of getting over with
them.

Try to do all the tasks at the same time.

Keep crying without being able to work effectively at any tasks.

afe sl s whE & Tau dand w0 B o o Ay A e widded (W ) off dam
Eaci i |

1
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(3)
(4)

Al
A2
A3
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Objective Question
167 30167

Objective Question
168 30168

You have been asked to complete your work but others plan to leave the work and enjoy
themselves at the Carnival.

1
(2)
(3
(4)

You also start thinking the same way.
You do your work as there is no fun in taking chances for such an important work.

Ask your friends as well to do the work.

Leave your friends thinking they have a non-serious attitude towards work.

R AH FE 699 T 5 T w1 0§ g o =afw FE 9 09 S s 38 1 are

T # 4 i e b -
(1) 3 s 3 R w5 S =
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ALy
1
A2,
2
I
3
Ay
4

You are in a cinema hall watching a movie, you see a snake in front of your leg, you will -

(1)
(2)
(3)
(4)

Remain cool, warn others, notify the hall authorities.
Start shouting that no one should move.
Shout to switch on lights.

Take snake and place it outside.

s Rt fem & 6 e (e me) 3E w R, s o TS A o |l e e & o e
q 3y
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A4

Objective Question
169 30169 4.0 1.00

You are very tired and have to do some important work. You :

(1) Keep thinking that you are tired and won't be able to work.
(2) Do the work whole heartedly.
(3) Would do it without thinking that you can make errors.

(4) Finish it off.

Y AET 9% FU A IR ATH FO FEAT] FE FE1E A AW

(1) =% =r=d W 6 A o g # SR S s T o)

(2) WA FE F
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(4) v P Fenfg w0
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Objective Question

170 30170 4.0 1.00
Your teacher tells you in advance that a certain project needs to be completed within two

weeks time. You would :

(1) Do the work patiently and complete it within the given time.
(2) Leave the work for a while thinking that it will be done later.
(3) Feel panicky and start devoting all your time to it.

(4) Ignore the work thinking that its just a day’s job.

o fogs Tl 9Ee § w9 <d 2 T e v (vfmien) w9 wee 6 muefa % o m
FA R A A

(1) SHEs w@ F0 3 ma 79 5 9w #5500
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A4

Objective Question

171 30171 4.0 1.00
You work in a Call center and a customer is angry and yelling at you on the phone. What is
the best course of action?

(1) Yell back at the customer
(2) Apologize and try to calm down the customer
(3) Argue with the customer

(4) Ignore the their complaint of customer

a1 foel ia #= # FEE 2 o aEs #iad & o %8 W 5§ fag @ 2 4 o fo Fn watm
apfran sreE 87

(1) 39 TE® 4 I 8 S F=E § 91 w0

(2)  EWETE FIE TES B G 0 B A" B

(8)  TES H TEH HA

(4)  TTES % TERTEE w3 =

Al
A2
A3
A4

Objective Question

172 130172 4.0 1.00
You work in a hotel and some guests complain about the noise level in their room. What 1s

the best course of action?

(1) Offer them earplugs.
(2) Ignore their complaint.
(3) Apologize and move them to a different room.

(4) Tell them there’s nothing vou can do.

w9 fodl Bl § FHEE § 5N $9 T A F9 H 9 % T F 91§ e w1 @ @ i el |
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Objective Question

173

Objective Question

174

30173

30174

A4

You are staying in a hostel, every day in the night seniors comes to your room and disturb 0 100
vou, first person whom you will inform would be :
(1) Laoeal Police Station (2) Principal of the college
(3) Hostel Warden (4) Help Line Number
¥ Torelt oEmEm d 28 £ #| U 39, T4 % 999 aiE O T W § AT A TEE w8
A T FEuUH 39 9% i g9 R d e
(1)  wuriE gfom = #1
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(4)  FETEE TE W
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2
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3
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4.0 1.00

While dining at a reputed Restaurant vou ordered vegetarian soup but you have been served
with non-vegetarian soup. You will :

(1) Call the server shout at him/her.
(2) Forget the incident and do nothing about it.
(3 Leave the restaurant immediately.

(4) Call the manager and complain to him/her.

Torefl TroTE el ® AT WIeE SR TR E TN ST SeRTERt {9 (3iEn) & wm i e saTeRt miemErl |9e
(TR o0 T A1 UE Rt § sy sy
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Objective Question
175 30175

Objective Question
176 30176

A4

A Food Festival is to be organized at your college by group of students. You :

(1)
(2)
(3)
(4)

Volunteer for the group
Plan how to stop Food Festival
Not to bothered about it

Try to make another group and challenge the same

9 Ficra 1 faanfeRi % vF 9Yg g7 S HEd 1 AR R A 8, @ A

(1)
(2)
(3)
(1)

Al
A2
A3
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T T U 9 AHETe @ HEeed & g gl

You are a telephone operator in a hotel, there is no call in waiting. You will

1
(2)
(3
(4)

Go and help in other department
Quit your seat and relax in the locker room
Be attentive on your given job only

Listen music through a pair of earphones

o Tl giee O 2ferEm et % w9 4 FREE # 3w o Fd A § 96 2 i FE e 160

R A A
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Objective Question
177 30177

Objective Question
178 30178

Objective Question
179 30179

A4

You have been sent to a monument for cleanliness project, as a group leader, your job is —

(1)
8]

TR % T F w9 H U e Aw aiwem F o e wm d dwn T @ @ o e 7

1
(2)
(3}
4)

Al
A2
A3

A4

Only to supervise (2) Work with Team
Go away after giving task (4)  Ask them to work only for photos

Fa TaET A B

&m % Wy wHE w1 R

%/ Fi4 F 91 97 T o B

I el BiEl % Tog S w % g we )

Light bulbs of the Park in vour locality are not working, yvou will :

1)
(3)

Pool money and get it repaired (2) Inform the Local Authorities
Ignore the situation (4)  Ask people not to go to the Park

9 &3 1 aM (T) 1 g w08 & 76 = @ € @ e
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(4)
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Your team has failed to achieve the given targets; As the captain of team :

(1) Take all blame on vourself for the defeat.
(2) Blame your team for the same.
(3) Try to find out the reasons for not achieving the targets.

(4) Resign from the organization.

R EW fau mu Aem @ A 4 e W R A TN F e S v A
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Objective Question
180 30180 4.0

A fight takes place between two employees at the hotel. As a Manager, what will you do? 100
(1) Try to convince both to stop fighting and find a solution of the problem.
(2) Handover the situation to your Junior.
3 Call Police and handover both employees to the police.
(4) You also involve yourself in fighting.
Fed # g HHATE | @SE &1 A 2 A WG ok T H AT ;B 7
(1) 2F FHAE F AE T2 FH 5 oI FHSG AR TR B R )
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3
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Objective Question
181 30181 4.0 1.00
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Objective Question
182 30182

Objective Question

While working in a group, you will -

(1) Never participate in activity.
(2) Share your ideas with others.
(3) Based on listening others, you agree with them.
(4) Dominate with your ideas over the others.
et wg o % 3 F A am
(1) Fr F Fa am T8 =)
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M
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P
4

You have been given the responsibility of Class Monitor, you would :

(§Y]
(2
(3
(4)

Request your teacher not to give this responsibility
Request your friend to take this responsibility.
Gracefully take this responsibility as a new learning.

Ask you parents to talk to Principal for not giving this responsibility.

AT FEAT 3 W = 2 o mn g Ao
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183 30183

Objective Question
184 30184

Objective Question
185 30185

What do you do when you reach in meeting without preparation?

1
(2)
(3)
E)]

Make excuses to convinee other members.
Admit your reason for being not prepared.
Try to escape from meeting

Do not attend the meeting only

o 3 o el 3 Tl e § ofaa A o oW E7
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(4)
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In a class room, you find a topic which is very tough. The best thing you can do is :

(1)
2)
(3)
4

Leave the class.
Ask your friend to teach you after the class.
In the class itself ask your teacher to repeat the topic.

Nothing can be done about it.

Fa1 8 Al F13 T T fam s 2 S aws $iA 2 @ oo T waifas snfee ga wn de
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Objective Question
186 30186

Objective Question
187 30187

You are transferred in a department which is not of your interest, you will?

(1)
2)
(3
(4

Make mistakes so that you are transferred back to your interested department.
Give time limit to the management for transferring back.
Resign from the company.

Work hard and try to prove yourself in new department.

AT T R 1 faam § o fem o & oo s sfisfa i i A s e | s -
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You find a person entering your restaurant on a wheel chair, you will :

1
(2)
(3
(4)

Rush to open the door.
Not bother about the same.
Be agitated due to shortage of apace in restaurant.

Ask the person that his food will be served in the room.
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Objective Question
188 30188

Objective Question

As a manager, you notice there has been repeated customer complaints against the smell of

carpet of a particular room, you will :

1
(2)
(3
(4)

Permanently block the room.
Ignore the complaint.
Remove the carpet from the room.

Replace the carpet with a new one.

wEYF & T H a9 9 ¥ e felt o fagw o 26 1 g F A § an-an feed m A @ R A
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Diseipline, Hard work and Dedication are the essential requirements to be a successful hotel
operator, upon getting this information :

(1)
(2)
(3)
4)

Vouch never to become an hotel operator.
You ignore as you are not interested in Hotel Jobs.
You take this as a challenge to be a successful hotel operator.

You start wondering about the work pressure.

TF AFA Bed 9F 8 § o0 SR, e 9W, 9 SfEd e €, 58 FIEEn % 98 6
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189 30189 4.0 1.00
As a teacher, you have asked to select a team for Annual Day Celebration. You would select

students :

(1) Only those who are close to you.
2) Only those who would do whatever you ask.
(3) Only those who are ready to adopt to any situation they may come across.

(4) Those who are close to you; those who would do anything when asked and those who
are ready to adopt to any situation they may come across.
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Objective Question

190 30190 4.0 1.00
You are working in a hotel, a fire breaks out. You would

(1) Come back home and relax.

(2) Go to a safe distance and watch.

(3) Secure the children and the aged people first before you try to help others.
(4) Panic and run away.
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Objective Question
191 30191

Objective Question
192 130192

You were going through with a guest bill which was prepared and checked by your staff. You

noticed a mistake. You would :

(1
(2)
(3
4)

Take him to General Manager of hotel.
Go and speak to the concerned staff yourself without creating a fuss.
Transfer the concerned staff.

Permanently remove the concerned staff.

s forell Tz = fam e @ g R 9 S 9 W= g0 AR e T i 3N e o i
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You have received a demanding customer in your hotel, you will -

(1)
(2)
(3
(&)

Inform him that he should not behave like this.
Shout back and tell that you are not in a position to help.
Tactfully tell that his behaviour is not appropriate.

Make efforts to resolve the 1ssue.
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Objective Question
193 130193

Objective Question
194 30194

After receiving a Negative Feedback of your hotel, as a Manager, you would :

(1)
2)
3
(4}

Shout on the staff.
Fight with the guest who has given Negative Comments.
Ignore the Negative Comments.

Take them in a positive manner and improve the standards of services.
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In a College Mess, you are not getting food of your choice, you would :

(1
(2)
(3
(&)

Stop eating from Mess.

Ask Management to return back the money against the Mess Fee.

Speak with the Mess Incharge to add items on rotation basis of your choices.

Tell everyone to stop using the Mess Facility.
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Objective Question
195 30195

Objective Question
196 30196

A Drunken Guest 15 ereating problem in the lobby of hotel, as a Manager, you will :

(1
(2
&)
(4

Handover him to the Police.

Handover him to the Hotel Security.

Do not speak with him as he is Drunk.

Take him to his room and ask him to relax.
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A delivery Boy takes more than usual time to deliver your food, you will :

1)
(2)
(3
(4)

Not take food from him
Not pay any amount to him
Stop ordering in future from that company

Write complaint to company about the incident
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Objective Question
197 30197

Objective Question
198 30198

Objective Question
199 30199

On a famous monument you see some people are writing something on walls, you will

(1}
2)
3)
4)

Educate them for not to write on walls
Ignore the situation
Start writing with them

Take photos and viral on social media
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You have been recently promoted by the management, you would -

(1)
2)
(3)
€]

Stop performing as now you have already been promoted
Work hard as now you have more responsibilities

Start talking with every one that how you have been promoted
Move to the new Company
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Eye contact with the guests represents towards :

(1) Honesty and Respect (2) Disrespect and Dishonesty

(3) Arrogance (4) Negative Attitude
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Aviation, Cruise, Hotels, Travel, all these industries come under :

(1) Manufacturing Industry (2) Hospitality Industry
(3) Cargo Industry (4) Telecom Industry
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